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GENETICS TEST STUDY GUIDE

Multiple-Choice

Circle the letter of the correct choice.

1. . Genetics is the science of
a. pea plants.
b. heredity.
¢. pollination.
d. probability.
2. . Which theory was disproved by Mendel's first set of experiments?
a. evolutionary theory
b. genetic theory
¢. blending theory
d. none of the ahove
3. . When Mendel crossed a purple-flowered plant with a white-flowered plant, the F2 generation
had
a. only purple flowers.
b. only white flowers.
¢ purple flowers and white flowers.
d.  pink flowers.
. For each trait Mendel studied, why did one form of the trait seem to disappear in the F1
generation?
a. The allele for that form of the trait is recessive.
b. The trait is controlled by multiple alleles.
c. That form of the trait is codominant.
d. The trait is a polygenic trait.
5. . Mendel’s second set of experiments led to the law of
a. independent assortment.
b. segregation.
¢. inheritance.
d. codominance.
6. . Incomplete dominance occurs when
a. both alleles are completely dominant.
b. both alleles are completely recessive.
c. both alleles are expressed equally in the phenotype.
d. the dominant allele is not entirely dominant.
7. . The ABO blood type gene has three common alleles. How many possible genotypes are there?

+

a. three
b. four
C. six

d. nine

8. . A polygenic trait is controlled by
a. one gene with two alleles.
b. one gene with multiple alleles.
¢ one gene with codominant alleles.
d. more than one gene.
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More Genetic Diagrams

Q1

c)

Q2

Q3

a)

An allele for the colour grey (G) in mice is dominant over the allele for the colour white (g).
A hybrid grey mouse (Gg) was bred with a thoroughbred white mouse (gg).

Complete the genetic diagram below to show the potential combinations of alleles in the offspring
of the two mice.

Parents:
AL LT
~  ‘Hybrid = an organism which has two different ~
== alieles for the same characteristic;.e.g.Hh.. B
Bamet Thoroughbred = an organism which has two identical _
ametes: _ -

Y alleles for a characteristic, e.g. HH or hh.
202 A B 0 B B B R B R VLV N

Sally is investigating the inheritance of flower colours. She knows that the allele
for the colour red is dominant over the allele for the colour white.

Sally has two of the same plant, one with red flowers and one with white flowers. Suggest how
Sally can find out whether the plant with red flowers is thoroughbred red (RR) or hybrid red (Rr).

An allele for the long hair (H) in cats is dominant over the allele for the short hair (h).
A homozygous long-haired cat (HH) was bred with a homozygous short-haired cat (hh).

In the space below, draw a genetic diagram to show the potential combinations of alleles in the
offspring of the two cats.

b) What is the probability of
their offspring having:

i) long hair? ...,

i) short hair? ..o
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